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in human body which one of the followings stores minerals q.t);,éjakp’ufa.;ﬁdjyy‘ﬁﬁaw -1
Kidney »/ (D) Muscles #” (C)  Brain {b» (B)  Bones ULk (A)

Reproduction takes place through budding in ﬁ:.bfc;(hgjé.ﬂﬁ.f % -2
Bacteria | /éf (D) Hydra bjfl, {C) Amoeba I (B) Planaria | ﬂ(A)

Water is required for reproduction by 4.&1@1:}1,( Gg{.ﬁu’@{d»f ------------------ c_d-'u»{t.’:{_.: =3
Mosses »# (D) -Gymnosperms _;'/,‘!‘ (C) Femns %} (B) Angiosperms )y;é-"l (A)

Number of homologus chromosome pairs is q_:wtfu:lﬁéﬂ%/ﬂmgﬂulﬁl -4
48 (D) 23 (C) P 24 (B) 22 (A)

DNA back bone is formed of ) \Q/(\%))q_axui-_é&_lu{ld} -5
Phosphate - Sugar /2236 (B) Q- RNA (fg..'c[bﬁsl‘.lc(ldf (A)
DNA-DNA (e lfif} «tefiif3 (07> DNA - Protein  (fksgatetefis3 (€)

Which of the foliowings is not eaten by other anima}%u Llfuﬁil.u. /a;isl,clguf -6
Producers dy8s; (B) Tertiary consumers M{/”} (A)
Primary consu dﬁ{ (D) Secondary consumers J/,i'/'rdlﬁ? (C)

Nitritos are converted into nitrat(e\ ; &b /;‘..ﬁ.UbLfQMM:ﬁ’bfu""lft, W
Den%g bacteria | A L106853 (B) S. pneumonae $IdA 2 (A)
Nitrobactor &t (D) Nitrosomonas trss2t (C)

Out of the followings , antiviral protein is q._vﬁz;..ﬂ?u}bg ..8.
Beta - endorphin p.-}';;ial-l}g (D) Thymosin #(i# (C) Urokinase %y (B) Interpherons 21 (A)

Heroin is obtained from 4—3&&(«.}‘5&;"2}5&% -9
Fungi =@ (D) Cactus =¥ (C) Morphine c¢2iA (B) Animals e sl (A)

Amount of nitrogen in inspired air is 4.Jn,w‘f,ﬁ:¢md:,z.xd'u¢ﬁéw -10
16 % (D) 79% (C) 0.04 % (B) 21 % (A)

Gums are obtained from u.?Z.m,}"bf <11
Keekar J (B) Rubber plant c_g_n,gﬁzj (A)
Coniferous plant e3¢ (D) Ladyfinger «csy ke (C)

Total number of cranial nerves is .............. Gor e IS RS e bh 12

12 (D) 26 (C) 31 (B) 33 (A)
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Q.No.2 Write short answers of any Five of the following  5x2=10 &5, A=z L2 &y <tbstn 240w

ST - (Qftan) 4oiian  DTK —I-24

How calcitonin and parathormone hormones regulate level of calcium ions in blood ?

How structure of trachea is different from bronchi ? T ﬁ;ﬂ{}r‘:—u&tﬂmﬁu =31 yf/ i
Differentiate between cellular respiration and breathing .é_(/bfuﬁﬁglﬁ/ﬁ;)k i
How we can protect ourselves from lung cancer ? ¢ u_:zé&_fﬂc.ﬂéu,zﬁ ii
Define osmoregulation g._é'ﬂu%f/ﬁ! iv
How kidney stones are formed ? ) 4.8*4(5/?&.}1 v
Why deficiency of vitamin A causes poor night vision ? ¢ Euﬂ}g}[ J(f)ﬂ@bg,u{&.lu’ Us| wi
Define optics and ophthalmology ’q{-..ilﬂ)’d:’;‘u‘ LJ’JQT vii
¢ L tasb SILL F T R i s hr Bt i | viil

Differentiate the Spongy and Compact bone b q—d}k@ﬁw{%’&‘ i
Define Skeleton 25:..;1/{[ 3| i
Why water is necessary for seed germination ? 4 .;..du/bfg’-éw’-?'z(f @&g iii
What is Spermatogenesis ? A ! &« | v
Write four names of nitrogenous bases in DNA molecule 46?"1:4:. ﬂ@?ﬂ#dzﬂﬁgnﬂd} v
What is meant by incomplete dominance ? (\ 0& $ q_,t/yf;u*r A vi
What is a monohybrid cross ? <@ “ﬁ\;\ ) /k(c,MxJ[,)/ vii
State the law of segregation W/ku JJﬂu’-"fJTﬂ viii

Q. No. 3 Write short answers of any Five of the following 5x2=10 é;fucvf/‘tm éta—gﬂ‘bt,» 3/Ulf

Q. No 4 Write short answers of any Five of the follow@ x2=10 s’{//’@Ui/ﬂL;W'éta.gﬂJjbu 4.4 .Ub’
erte two bad effects of acid rain i@ J..JA&._,:»Z:JJMI i
Write the difference between secondary arng ry consumers éﬁ;&ﬂ}/{ﬁf/ml}/{){oﬁﬁg ii
What are phytoplankton ? What is }l\(@&l‘e) in ecosystem ? by .;_.Av( k( b’eﬂuﬁ(z'/ 1{ Y ujok(th‘lgl.‘F iii
U\) tJ}L))(ﬂ){;)Lﬁé{ﬁedrtﬁ.u»ngGJm iv
Write the names of few carnivorous plants which lives as predators
What is a fermenter ? ) u_f;fé )ﬂ:’/ v
Why the use of single cell protein is essential in future ? ? :;.d»/'u.dvﬁ"'b’vﬁ:{ﬂ’dd?v vi
Write the bad effects of sedative drugs e"u}lé_}géﬁj;:&f vii
What is a drug ? ¢ gLl | viii
(PART Ii ) pg2 drman
NOTE : Attempt any two questions from this part 9x2=18 iﬁ,’{f:fu‘eﬁgfamnz_ék—w P g
4 ¢ i bt L e\ G i | () - 540

How Halophytes are adapted to live in salty environment ? Comment

2+3 éwb:?q_fj{ﬂ,{c_dﬁléuidl/g(/bﬁé‘ ¥| (8)

How structure of cartilage and bones correlate to their functions ? Explain

Explain the pr
Describe the process of seed germination in detail 5 g{uy:,d:’ HG0LE | (B8)

ocess of reflex action with the help of an example 4 é@d#&aﬂﬂ;&)’ﬁu’ﬁwﬁ (A) -6 /,}dlr

5 &5 ﬁ)‘f)‘;’u’d’q Ry u’d}f&ruldﬁ/ﬂ:/' (B)

What are addictive drugs ? Write note on Narcotics and Hallucinogens

Write down important objectives of Genetic Engineering 4 iﬁ’;fyl&f IA:J ;jl (A) -7/.‘Uir
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in monohybrid crosses , F2 generation has the ratio of phenotype was
4:0 (D) 9:4:3:0 (C) 3:1(B) 9:3:3:1 (A)
U__?L&JTA(-JL»falgﬁéduilyﬂdu{ﬁ;l} lg:i.'fdl“/ %
in ecosystem , the organisms that are responsible for the recycling of plant and animal wastes are
Decomposers Jlb,jdi (D) Competitors ...y;éj-";,{ (C) Producers 93/ (B) Consumers /i/r (A)
Recycling of one ton paper can save u}é@i_lf&ug.c_i.h,«mﬁ/@w(ﬁﬁfug
..::—5/: 17 trees (D) =3 18trees (C) =3.» 15trees (B) =3» 10 trees (A)
A thick muscular structure present below the lungs is calied q_(}l}/‘;.(jmzrz&lf/,c'éruﬁééu:yﬁ
Branchioles fzflz (D) Diaphragm r')}ﬁ (C) Tracheoles Z;,‘.'///:A(\B) Alveolus u’ff,&l (A)
The structure that creates an insulating blanket of warm air in animals is %@fdﬂiwrj.gb’bt(&k
Goose bumps .:4/" (D) Kidneys 4..;} (C) un 9 4..25 (B) Dermis (ﬁ! (A)
\2_ ﬁﬁuﬁd’:‘%ﬁf{g})"lﬁu)ﬂi&&ﬂf /
The special neuroglial cells located at regular intervals 7I@ ons are called
Nodes of Ranvier 25/ 43Ti34 (D) Schwann cells kg/b\ yelin sheath &% utl. (B) Dendrites u”lua! (A)
Q ¢ ¢ Ol ot eSS AU ) i
How does vertebral column contribute t o@e all support to human body ?
\& It encases the brain for protection .;._b/Q_LﬂJ/ Ll (A)
~ltieonnects pectoral girdle to pelvic girdie 4.tz£;d5f.f$ﬂ5fdﬁg, (B)
None of these ;ﬁﬁ!&.uﬁui (D) it provides main support to the body mass q_rfr‘f!ﬁjfil{i_ga‘zfﬂ (C)
‘;.J"{A,w}’u,,.?;w@:’,ﬁuwwf (2323
Which application of biotechnology involves the production of insulin and interferon ?
Medicine s 3se (B) Food and Agriculture <ielyy, il i (A)
Genetic engineering Jaﬁa&miuﬂea (D) Environment <ililsala (C)
4GS LSNPS R Gl S
Which category of addictive drugs capable of being develop dependence or addictive ?
Analgesics L#FI (D) Sedatives w=lninTus (C) Norcotics it (B) Antibiotics UL (A)

What is formed from ovule after fertilization ? ?.ﬂg)ﬂ,t;ﬁﬂﬂ(”’ﬂ’!éd‘{.’/’&g)
Leaves (£UR (D) Flower J#% (C) Seed & (B) Fruit J¥ (A)

In most plants , the sporophyte is G-ttt bossr S Usag sl
Dominant /& (B) Small in size é:{u‘i'?’l/ (A)

Dominant and independent JC?::;J:L.JB (D) Independent .37 (C)

Pink flowered 4'o clock plant is an example of q.dﬂ*g!d@:{b’;ﬂdlfdu”{Jt‘ -t

Co-dominance J.-".d:if (B) incomplete dominance u':fd,h}‘z (A)
None of these uﬁ:ﬁ-'_uiut (D) Complete dominance J.-".d:h}; (C)
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Q.No.2 Write short answers of any Five of the following 5x2=10 i£ {/{:«Uﬁ/gép'zl &g c.uidjjb» 2/.Ub'
Write down symptoms of bronchitis ; g’uw&ﬂu i
What is double Pneumonia ? by ,—_y’g/‘)s ii
What is diﬂerenct; between breathing and respiration ? 7 b q.J}kfu.‘.‘u?;(’w:luy iii
Which organs work for homeostasis in humans 7 ) ‘J.rl./?ﬁ,éu“"!‘g‘mﬂuw )Efc.uf iv
How kidney stones can be removed by lithotripsy ? by 4,4;"‘:1"! ﬁjﬁ&_.vf Z,)lfc.(ﬂ/‘;’-’ v
§ e sl ¢ ol teSundd| vi
What is meant by fight or flight ? Which system is responsible for that ?
What is the function of Medulla Oblongata ? 1 q_.(b’;fb’ Lﬁk:ﬂb&f vii
Write down two main contributions of Ibn-al-Haytham e?»s’fu,é,&’w | viii
Q. No. 3 Write short answers of any Five of the following 5x2=10 é{/’a&&/ﬂédzl ég;.uﬁb{w 3 /)Jlr
Differentiate the movement and locomotion QGJMJ:'J;‘AIwC’ i
What is a bone ? Write its two functions Sl e o] i
What is meant by grafting ? S e B | i
What is meant by double fertilization ? @Q@L{;Jéﬂgﬂj iv
Write down the composition of Chromatin material \\\ O\/ o EE kvt | v
Define transcription <<\<\\9 ) é.aﬂ!ﬁzq} vi
What is Genotype ? Also write names its types ﬂ (\\/M g‘}c&rw‘fmmé.ﬂj{,(g b | vii
Write two reasons for the selection of pea plant m@%ﬁ'g /’....«}iw(fdh{b’/q‘..&d_. i O | viii
Q. No.4 Write short answers of any Five oﬁ& ﬁ\lgving §x2=10 é{/’uyw/‘?ﬁdﬂéta‘;‘b@: /dly
Herbivores are called primary consu;n@Wy ? 3 qulk(Jx.( /W/l/uud/ i
What are the effects of excessive\\qé}itrificatnon ? f q{kﬁ-—.tuﬁﬁvf-ﬁ ASdeals| i
What is permanent parasitism ? Give an example &)dt‘." by 4.%7’—%4}" iii
Define pollution é_&ﬂﬂﬁ)‘f iv
Write down two uses of glycerol 2’,5{/’@%""”&‘):/’ v
How can single cell proteins help in controlling poliution ? ;s ug&‘)?; 4«,}22.)1}:}7;5)7}64&}2’ vi
What are sedatives ? Give an example ’é:dl‘f‘- ) uj&fiﬁ.&’ vii
What is the role of Joseph Lister in surgery ? ¢ ¢ /| y’.,;:dz/s’,"bm viii
(PART Il ) pgd dsman
NOTE : Attempt any two questions from this part 9x2=18 q’{;fa &Lﬂéd"a l!ln:c..éfc_‘;/m 12y
Write Osmo regulatory function of kidney 4 25-:;/{)) d)éfzﬁl&_:f (A) - 5/.‘Ulr‘
What is meant by joints ? Write their types 5 g!;/?m:!u! L] {—J'/k(:-f ,ly (B)

242 :{wun!cr‘fufp"}a.m!ru@wd&
Explain reflex action with the help of examplie and diagram
Describe the process of Spermatogenesis and Oogenesis 5 ’q{ukdmﬁu“?"z,bﬂu’#ﬁ'g

(A) -84

(B)

4 25 IS IR AL o Sid

Write down the role of biotechnology in the field of food and agriculture

Describe the method of action of vaccines 5 éuk:b’.d,)b’bf‘fz )h‘g

B <74

e gL /
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B /b.dﬂdibé..,.lz...«wc..gﬂu.wbia_:ﬁ.bédlm-{géb’dlz.uté{.: D s CB,A el Jivy : L)

-ﬁuﬂﬂlylfu.& LS L&f-—l’ LL&IUJIDIJ&J&- Ow_3y 7

Stamen u‘é‘ (D) Anther /*I (C)  Pollen grain g{/uk (B) Gamete -w( (A)
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Cytosine forms pair with ‘ * e QWAL
Sulphur & (D) Thymine 207 (C) Guanine £V (B)  Adenine L1t (A)

Natural selection , book of Darwin was published in ¢ Il UL O 2
' 1870 (D) 1869 (C) 1828 (B) 1810 (A)

Example of carnivore plant is ‘ q..dhﬁ.:p”&nb’ 3
Fungi 0¢ () Algae fI(C) Pitcherplant »ib% (B) Mosses 3 (A)

Non renewable resources are ‘ ' .UIM‘QUN ol
Air (D) Fossil Fuels MJ7 (C) Water di (B)  Soil ¢ (A)

Interferons protelné are used as Q(%\ qangdeﬂ)ﬁ{/,)ﬁl | -5
Anti drugs £4.9% (D) Antifungi JBLIF (C) Anti viruses y »\.g@ia) Anti bacteria | & 38 (A)

Psliosin belongs to | e e
Antibiotics %) (D) Sedatives Jii ('cx\ Liwe ;rg (B) Hallucinogens A5k (A)

Asthma is actually D O, /TR ¢
Hepa* ds u”tt’g ©) <éﬁc§r AL () Alergy 3/t (B) Tuberculosis Joy? (A)

RS

Colour of human kidney Is < QLN 4.@5&)»; GM -8
<X Dark red {8 0 Blue £ (C) Yellow 8 (B) Pink 3 (A)

incus bone belongs to 3 A e
Mouth . (D) Eye #7T(C) Nose Jt(B) Ear o (A)

Type of cartllage tissue Is ‘ .;.("J:—féﬁr -10
' Smooth 4 (D) Cardiac £ LK (C) Connecilve & @) Musce J(A)

Budding is found In | Ol 11
Amoeba ¢! (D) Plannaria | 2¥(C) Bacterla - 125 (B) Yeast wg(A)

Name of unit of androecium is | | 4.(%‘2}!’!‘;(3”12! -12
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Q.No.2 Write short answers of any Five of the following 5x2=10 -2 /Aepie 0,121 81 e litw 2 00
Write symptoms of bronchitis ggf’@mgﬂjyﬂu 1
What is lungs cancer ? | o~ Kusme| i
How smooking affects circulatory system ? ¢ 4.&91}!{‘(;{' G| i
Differentiate between Hydrophytes and Xerophytes éukd)‘ﬁu'ﬁ lb()mg,r‘f bas bl v
, . ¢ U Z TP LU DL ybegf | v
Which components of blood cannot be filtered through kidneys and why ? _
Differentiate between somatic and autonomic nervous system z@,{})u:f’ JM)‘Dﬁf"’ Uity | i
Write reaction of pupi! in dim and bright lights e:" A AR
Write differences betwaen exocrine and endocrine glands : gthMﬂJU' jtb:lgfl/rfl vill
Q. No. 3 Write short answers of any Five of the following 5x2=10 2 fe\z 71 Sbc_ufcbbn 341

Define hinge joint and write two examples !u"hu,lg_gﬂ.}kg i
What is the difference between flexor and extensor ? ¢ UL /"‘qlsl /Ql ii
What is meant by multiple fission ? t ;_.:f/kfc.u’u&‘ il
Write the names of four organisms reproduced by budding z-.e'.’»zﬁuuuw"_t,i_)’wtgw‘.uf | v
Define trait and give an example &J&alé..g/lf (trait) &c?| v
What is nucleotide ? Write the names of its three components ej{"rédgu,fém ¢ e Lstd| vi
What is meant by alleles ? /(\\ . t ¢l /k(a_:ul vii
What is a homozygous genotype ? /\‘(\ O\/ ¢ 4_.8,1{..( el | vili

Q. No. 4 Write short answers of any Five of the following @@%-é{fuyvﬁLIYIégcﬁijw 40l
Define species S\ ZN \J | aﬁ..gjl{,fm i
What is meant by producers ?  ° _ /:\Q > ¢ el dpghiy| il
Define parasitism S\ O / : ZaAenrvg| i
Whﬁt Is meant by predation ? ) \?\/N\/ 5 f_:i/f‘(c_‘-ﬂé{ v
What are transgenic organisms \'Q&?A ¢ ugLnkalg.ﬂ‘f) v

.| Write a short note on Lactic acld\f)ermentatlon ﬁ(]’@)}‘%w’!‘?ﬂlﬂ vi
Differentiate between drug and pharmaceutical drug 2’,3: L’ I:J)uﬂmf‘x‘bhﬂn vii
What is the difference between antiseptics and disinfectants ? ¢ q.J)kru!Jﬁa;JbﬁJ‘r@l vili

. (PART II-)f_,.hh‘A
NOTE : Attempt any two questions from this part 9x2=18 ﬂ{(fekﬂﬁﬁd’aﬂlma_dfc.w JO7

4 oGt Lok Lo | ) - 50y

Describe osmotic adaptations in hydrophytes and halophytes

5 é.»h,JuﬂéuW; Lyl e q_g’uﬂ‘c (8)

What is skeleton ? Explain different parts of human skeleton ?

Explain peripheral nervous system In human 2+2 szu,Jﬁ’ w}d);,ﬁﬁuw {A) ,.s/ﬁjlr
' 144 Zeobaf Phiat e ndel/i8| (B)

Explain female reproductive system of rabbit with the help of diagram

Describe two types of carbohydrate fermentation 4 gwkrﬂb:&y’-'%dﬂx/b’ (A). 140
Describe narcotics In detail 5 éykadﬁwﬁt (B)
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BLAA A,..WJw-&.,.w...m:_u:uuuéc_:a.(.«z:dtr/{qKQw.uréq_, D 4/ C,B,A ez lle vy o &F

-b’xzﬂw.._dljuﬁufujfL{Lf{):bf LL&J&’/".’&J&L—?«#’/‘—

A
In DNA , cytosine nucleotide forms pair with ¢ e btz AL et It - 11—
| Uracil JfUg (D) Thymine 20 (C) Susming &L (B) Adenine U (A)
The genotype of blood group " 0" is et2f "o .,,,fi& 22
| i (D) i© i@ N
Goat eats grass , what is its trophic level ? T 4_[.5:():!-1 A -;,-_BUIJIIJ)‘-’ wi
Decomposer u:{di (C) Secondary consumer /{/T!Ji»,? (B) Primary consumer /M;‘/'{ (A)
- | ) | - Producer /25:4: (D)-
The long term effect of noise pollution is : q_}l,uu,br‘f JT2  _a
Loss of hearing 2b¥=#k (C) Aggresslon Jl&"l (B) Annoyance J)u. (A)
| Respf@fbp? disease 2k g% (D)
Very effective hormone for brain and lungs cancer is q_gr Qub/!{uﬁd.ﬁ /Zu: /61:1&: <8
Urokinase /’b’u;[ (D) Interferon u:,d}l (C) Beta /wﬁ%\!ﬁ\h u.'/uzllﬁv (B) Thymosin ¥ (A)
The drugs used to reduce pain are called /ND el s 6
Sedatives J£i- (D) Antibiotics &ywntiseptics u“ﬁhl (B) Analgesics U Hf1 (A)
Right lung consists of how many lobes@@g ¢ 4..&::‘}”2 (29) U bl -7
. @}ﬁe &, (D)  Four Jp(C)  Three e (B) Two » (A)
The organ résponslble for filtering blood is :;_J:‘Db.ajb’i.f/’&(wi -8
Kidney uf (D) Rectum ‘:(C) Stomach w» (B) Intestine g-fb—"l (A)
et - e to Sl me SN in oo 29
The projection of neuron that carries nerve impulse away from cell body is
Myelin Sheath #*“ (D) Node of Ranvier gfa3Ts? (C) Axon ¢if1(B) Dendrites Lk (A)
Ol Lt L LSAUB Sk 10
The fluid filled space in which chondrocytes are present is called
Hyaline ﬁﬂ (D) Lacuna t;:g (C) Coliagen ng.\,f (B) Matrix 'f;‘-f (A)
The outer most whorl of flower is called q.bﬂrﬁ/.fr&wa.q(d:{ -1
Gynoecium f”éf (D) Androecium (w2l (C) Corolla U/ (B) Calyx U,.IJ;J’ (A)
Asexual reproduction in Rhizopus occurs by 41,1.4.43,:@"9,44}’,‘&_:‘;&:6:/ <12

Endospores Lkl (D) Spores Lsr (C) Budding % (B) Binary fission % (A)
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s gn

Q.No.2 Write short answers of any Five of the following 5x2=10_ oL ayn L iz 5& < LSn 24y

What is the difference between glottis and epiglottis ? * NGNS | 1
Write down symptoms of Asthama : é{]’etw&u Hi
What Is passive smoking and how is it harmful ? by q_uulﬂb}).f;a! f ﬁ:_;ygfa...ﬁ?')ﬁ il
Explain selective reabsorption in nephron 25..:» Lhd’pﬂ;l ;ﬂd;}p’utu, x| iv
Write issues (problems) after kidney transplant ' égﬁt/(ﬂédﬁﬁ Wy | v
How does co-ordination occur in unicellular organisms ? ¢ ,—_chj.’u’fdbm:uum,)kag vi
What is meant by Hippocampus ? ? 4.;!/{4-_.‘;3{% vil
What are meninges ? Write their function . ERJWEN T 2% | vill
Q.No.3 Write short answers of any Five of the following 5x2=10 /eyl iz e ltitn 30y
Define cartilage . Z A é:b’ i
What is a tendon ? Write its function : z‘{ﬂ’u‘l £ 4.5[ (Tendon) g4 | ii
Differentiate between sexual and asexual reproduction éd}‘ﬁ(‘fg)ﬁl(fkf.’lj’ﬁ iii
Write the method of budding in yeast a!%)b’._! Al v
How nucleosomes are formed 7 P QK\%\ S PE LA AR v
Write names of four nucleotides A @\9 é.‘f?t&)fﬁxxbk vi
What is meant by transcription 7 ' < %\;\ $ el o AL vil
Differentiate between dominant and recessive alleles (‘L@\/ g 4.J}kfu! :Vb:"w;lw;} viii
Q.No.4 Write short answers of any Five of the fonqﬁzp\}a x2=10 oL fe 2 A ARG AT 45
Define consumers and write its any two types | i@ e‘}w”u'Jme,,:ag..gﬂgAy’ i
Write any two major sources of carbon in@@“\l\i}/ing world edébk.fwéum’m;ﬁ;@ il
Define biological nitrogen ﬂxatlohw é'-eﬂfu‘-" St Sedg, | i
Define mutualism and give an eﬁsle @dmg,ﬂgw,k v
Write the names of two major techniques used In biotechnology eqﬁwdbl.xdb"lu:gjikﬁﬂ v
Write the procedure of continuous fermentation N QVJJKW vi
Define pharmaceutical durg and addictive drug i_pﬂﬂm‘w;,nmﬁgrﬁ vii
In which infectlons tetracyclins are used ? t u.:&ndwu j’ﬂw( ;tﬂwﬂ viii
(PART Il ) ps3 dsaan
NOTE : Attempt any two questions from this part 9x2=18 q’f{)’aytzéd'amn:;ﬂfc_m e
Describe the structure of kidney 4 et bles | (A) - 520
What is meant l:_;y joints ? Give their types 5 iuhrt}l&ql ¢ 4.;!/{;-.‘;’73 (8)
Explain the pituitary gland with its hormones and their functions 4 Foo b Kl Uirq L1850G | (A 60
243 GaobfU Lo Pge i /i | @)
With the help of labelled diagram explain the process of spermatogensis
Write detall of types of fermentation 4 edd-.‘"ﬂow.fg’-"? A 720w
Write a note on drug addiction and associated problems & E#L){Ji/ﬂ#uha:b&a?‘ (B)
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LR
QL it erna iUt amsde bl Uiy p 40001 ML 2D IA, B, C A2 P L iy i

Jx,,Jm..u.,m;.,,,-dz./z/..,vu./w,mug_.gA,/:_4.5 WIRA S
DGi-G"23 14
Allecosyubmsoflhowoﬂdtog%rbmm 7 -dLU’d’}"’ﬁrﬂLb
Blosphere &2} (D)  Habitat 2d(s! (C) Communw &< ® Population MW

The microorganism used In the preparation of Formic Adid Is. .+r,Cf,fwuLxdu"ua,ydeJ
Saod\mmz!tuﬁ (D) Protozoan ¢lufsg (©) Badllua S (8) Aspergiilus - ¢ (0

The medicine obtalned from mineral is. ‘ -0 o/ flcchm
Antitoxins /ﬁ&t o . Aspirin ¢{¢f (C) Tincture lodine wﬂ'f (B) Morphine 2.l (A

How many carcinogens are present in tobacco smoks? T2« s XE L L LA
" | | lg\@%\ 80(C) 508 40 (A

The wasts materisl removed from rubber plantls. (| & oM E e ey,
Reeins 52, (O)  Mucilsg Qz © oumA® Latex 2 W

All of these are hormones except. ”Q l\/ = | Lividirk i,

Pepsinogen £ ys (D) T@w 12 (© Glucagon um' B® lnsulln o W
The disorder In which there is @mulaﬂon of Uric acid In Joints. b tF S0 12U S

@V Osteoporosis U~ i (B) Gout 3¢ (A)

Rheumatold arhﬂhmfl};ﬂltbp (D) " Ostecarthritis /| A1 (C)

Bacierla reproduce asexually by. - RO, PR ¥ RNy -
Regeneration ¢~ 25, (D) Binary: thomfdf& © Fmgmomation Ja' L) ®) Budding £} W
Vegetative propagation in onion oeq;pa_ﬂ\rough. .444—61@%4#&:&&
Tuberd;" () Rhizomeudl (©)  Bub o (B  Com of A

Itis an example of dlsconﬁnuous varlaﬂons | .44}56.# I(f/ 2

Blood groups uﬁ/z& (D) Intelligence >B(C)  Welght gy (B)  Heights (A)

When Watson and Crick pmposad the model of DNA structure? S Uilbas S DNAL S i
| 1854 (D) 1953(C) 1862 (B) 1851 (A)
The Interaction In which both partners get benefit Is called? | te bt AL It S e
Predation ¢4, (D) Parasitism /#Ui4 (C) Mutualism %< (B) Commensalism ¥/ (A)
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F1a5=J; A0 BIOLOGY §/k
48= 4 g‘a};l.)' ,u» W S
Q.No.2: Write short answers to any five of the followings. 5x2=10 é{/ uw/ L»l:!léhc—u’ bb(m 2 / dlr
Write two differences between inspiration and expiration. .é{/’ Ik J-'Ju:(-mlvﬂju;" o
Write the types of bronchitis. #7000, | i
What is Nicotine? What was its use in past? * RJFIv L o 441@1‘ £l o
~ Write leading causes of Kidney failure. éd Az b LS | v
Write two functions of Skin for homeostasis. é{/’dﬁl»[a&é&«f" £a | v
What are receptors? Give one example. .ﬁ:dlh.{l?dyi}&; vi
What is Nerve impulse? ?4_1_14}? Is7 | vii
Compare the role of Glucagon and Insulin. Eoarv ) ZLAond | vii
Q.No.3: Write short answers to any five of the followings  5x2=10 &/ 7=l A Lizid e Ut Lstn 32y
Differentiate between endoskeleton and Exoskeleton. .2{4/’ JIK u"?a rfluuj‘i‘a | i
Define antagonism. .é...z ¥l éf}’ﬂﬁl ii
Define Parthenogenesis and give its one exémple. x\{ db'...flulé..z Vel Ju""{ #’ JL iii
Define Spermatogenesis and Oogenesis. Q/ _é..z /(5 -.”M“f:’.‘.’ 7~ 94 iv
Define Loci. ) @ y -éq}dél’{ v
Define Punnett square. @% 208, Lez| i
Differentiate between breeds and varlaties>\>5 £ J e lips | Vi
Define genotype and phenotype. _é..! y] J.,fbt?uh(?iﬁ‘ viii
Q.No.4: Write short answers to ap@%of?ﬁe followings 5x2=10 & ; 7 a7 & Lizi§le it Litw 4 /Uiy
Define species. /NQ -é..g ¥l iS Y-
What are the heterotrophs?- sl Pzl i
Describe the components of ecosystem. _éuwxl[_,’/ il
What is meant by biogeochemical cycles? Sl pl lre ¥ LJ/ 2Ll v
What is meant by genetic engineering? Sl lf ek bz v
Describe the uses of enzyme Endonuclease. £ A2 ,t”.dwl "1 i
What is meant by addictive drugs? Aol e clnlsly | vi
What is social stigma? ?u!zf é"t S e bl A | vi
(Part 1) fn#

NOTE: Attempt any two questions from this part. 9x2=18 _éj aw[,amn,;,éf Sl LS

Write a note on Osmotic adjustments in Plants. (1+2+2) é{ V4 :.d.’a u." b h ¥ :luf’-u»{ s /dlr

Define Joint Write a detalled note on its types. (1+3) J O 4,«016;{:;:1&%4 Jdes1z | (B)

(1+2+2) .é{/’(l}lé”l y 4.&‘(7(&-,‘,&’ 0y G/JI:‘

What Is feedback mechanism? Write the types of feedback mechanism.
Differentiate between epligeal and hypogeal germination. (2+2) ,éu P ‘f"{ 2~ iw‘f' ¢t | (B)

Explain in detail the steps of genetic engineering groups. (5) .écjhc.‘,k; JI /LJ P lo.ﬁ_’. W 74Jir

Define antibiotics and describe its major groups. (1+3) é.-,u,&f-,f :..i&uléq/ d‘fé £ | B)
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dwé,.,mu»c.u‘um,zf.e..,‘abé.duerwu.dé'.q.,bum B,C =22 hL iy 1+ 2ils

AP Bptuf b 2ur§L LS ML S 1 itbstia . Esf et | Sk Hoss

_ LAy

vSﬁomata' are present in. o R mgrted | 1
| Epidermis " 4! (D) Phicem ##(C)  Endodermis 4%/ (8)  Xylem (0 (A

This Is an example of halophytes. \‘ ¢ “_".-4—db't-[ ¢ (Halophytes) f b, | 2
Cact 362 (D)  Water Ly J# (©) Rose .,ul‘ ®) Sea grass (.7 (A)

Hormone that increase concentration of Glucose In blood Is. g b Sty zgr k| 3
Blle J| (D) Insulln ¢ (C) (‘.alcltonln I ®  Glucagon U f )
Ball-and-socket joints allow movement in. S .dl_.b/ g l‘fb T - dt

Two direction 25 (B) One direction 2 fl (A)
Al directions VU7 17 (D?{O\Pglo direction U&fiters’ ()

This Is not a part of Carpel. (6 -U:f Ny
Ovary (s (D) Stylel.%%ig\cé\oﬁ.nther /(8  stigma LR

‘Male gonads are calied. N AL L8
Sperms » (D) Eggs Q»l):‘l (B) Testes uy .V

Guanine forms palr with? NCP e Qg LS LIS
Cytosine ¢£/0L (0)  Thymine(w£30(C) . Adenine ety (B) Carbon ¢t (A)

Who presented the term artificial ¢ jection? iy, ?y..uwl..gf(fbui‘léﬂzd >
Qé& BuAl SIna tedy B) ; ‘Abu Rayhan Biruni (g4l (A)

| ' b Watson u} by (D) ", Gregor Mendel Jiek/(©
it Is an example of ectoparasite. : f;;_f.‘ -4.‘)&-416..';%&»44

Bacteria | 2% (D) Virus 6 U7 (C) ’Mdiéqmtié A®  Ascais vA W
e ,de racycllng GuPLL;UJJJLJJIUNU:,"/ £z 45l

Organlsms in ecosystem that are responslble for recycling of plants and animals wastes are.
Competitors z,;‘d ((»)] Decomposars Jun{ ($3(C) Consumers J+4* (B) Producers j~4ii4 (A

Aspergllius produces. ; -4;—&/ |4 (Aspergliius) uy &l
Acryllc acld 2 141 (D) . G{yeoi J73H (©) Formicacid 2 L4 (B)  Ethanol Jik (A
The most common method of admi__nl_étarlng vaccines Is by. -4.4441)r(-c..,/?u@£;

Skin 4 (D) - Injection J‘ 1(C) Nasal Spray < ¥t (B) Mouth . (A)

1
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Q.No.2: Write short answers to any five of the following. 5x2=10 .é{} .:.Wt,’" LAII&L‘—U:J;!@; @ydlr
Define aerobic respiration. ‘ .éq YL ,(?i:(;;al i
What is difference between breathing and cellular respiration? re-Jjl B2 ,,h)kmf ii
What is‘meant by Lung Cancer? fesrlfe AL ;{5 iii
Write the name of two methods of Dialysis. é{ V4 beuﬂ Ind I8 | v
Write two characteristics of Xerophytes Plants. .é{/ b’ »(ju»uf bsgs| v
Write the name of two types of coordination in organism. _ég V4 (D!udu?gdbffu-'-u;ﬂb vi
What is meant by Stimulus? Give example. _é':db' T4l (—Lf /{ vii
Differentiate between dendrites and axons. ) )U-'-J'b‘-luld“ L3 | il
Q.No.3: Write short answers to any five of the followings. 5x2=10 &£ 7=iz & Liti§he Lk stn 3,701y
Define Exoskelton. _é«.z ¥l § J‘Lp Al
How compact bone differ from spongy bone? ?4.9":‘ [ )J (,dicff:uie,é,f ii
Define Cloning. .é..g ¥ SL¥| iii
Define double fertilization? . o\ Ey AERIRIS | v
) .
Define incomplete dominance. / @\/ S _éq vl (S(f"'f Jff 6| v
Write two sources of Variations. . »{\\ & _J Sisnd =i & | vi
What are discontinuous variations? /«fi\? e AP d’v 2| vii
Distinguish between dominant and recessive. X\’S\y &3 Ut e | il
Q.No.4: Write short answers to any five of the followings. 5x2=10 &£ 7=z & Lizible it Lits 4 dir
Define Smog? s N sy 78S |
Write about global warming. \Nﬁ\\ .a! Lkl Lwtd | i
e g\) ,éd  JU~J s (Non Renewable) 447 t6t.s! (Renewable) UE | i
Differentiate between renawab\le>and non renewable resources?
What is symbiosis? Se U~ | v
Define genetic engineering. .é..z V' §f 4 l..ﬁj: v
Write the name of Medicines produced by Biotechnology. J rbLaL»lG’ (54:4;34:_..! ,!' l;ﬁ_’. ' Vi
Define Vaccine and Vaccination. é...z d (S S :a:lc{é: vii
What is the use of Morphine? Yq_y’dl;lb'c)f;b viii
(Part 1) /5.0
NOTE: Attempt any two questions from this part.  9x2=18 _ég Felzlclyne et ot o)
Write a note on Structure of Kidney. (1+2+2) é{ Vi 2ieslles/ | (A5 AUy
Describe the types of Joints and give examples.  (2+2) X ,u;‘!bwléuy(ljldub 1z | (B)
Wirite notes on mid brain and hind brain. (2+3) é{/’ &JLchﬁiﬂu!w‘ﬁ- We Uiy
Describe androeclum and gynoecium. (2+2) ,évb:df.z A’} ul(..’u‘a‘al (®)
Explain the detailed basic steps of genetic engineering (5) édkc.ub;d' I /d:QLJ ;! lq.ﬁ_’. W74y
Describe the mode of action of Vaccines. (4) ol s, rVL;’./-; (8)
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The part of brain responsible for muscle movement, interpretation of senses and the memory is the

Cerebellum (“‘/ (D) Cerebrum pz (C) Medulla oblongata Lgfu,w;y (B) Pons /L (A)
How many bones make our skull? $ utu&;,uf ufd{y*fj/h -2
14 (D) 22 (C) 24 (B) 26 (A)
Which method of reprbduction is found in bacteria ? iy 4‘:_rlg§&.‘ig)L~uf wahé;u: } ﬁ‘».c -3
Binary fission u’id/'"'y (C) Budding £% (B) Vegetative propagation gdafsgsy sishansy(A)
. Parthenogenesis juisia sisgioly (D)
¢ QWUPSIELENGE © ool npbSise i -
An organism's expressed physical trait ; such as seed colour or pod shape is called its
Physical type (: Ul (D) Karyotype ../b'/ (C)} Phenoty Q \%,; (B) Genotype ub.‘.‘-’ (A)
Which nitrogenous base forms pair with Adenine in DNA ? AL SAIURGSF qufuﬁz...UldS -5
Uracil Jly (D) Cytosine ¢ Guanine ut‘.’ff (B) Thymine uﬁgjﬂ (A)
U?Z_.lkf ------ bu%/b’u&u:(aw&u.w’kulu»{ﬁJUlpz:’uff‘/ %1 _6
Organisms in the ecosystem that are responsible fq@b%cycling of plant and animal wastes are
Competitors .é,‘lf..,-ft-l‘,{ (D) Decom o@ u.ufdf (C) Consumers J/{/ (B) Producers Jgsys (A)
Which component of ecosystem is a‘utotf ‘(\\. © T q..;w !:]lzuf b’(" % -7
ondary consumers J/Md;}f (B) Tertiary consumers 1/{/{(5// (A)
Producers ),45:4 (D) Primary consumers J/y{d/l{ (C)
il L LSy ARy S esinarms 8
Find the correct match for the fermentation product and the organism involved
Glycerol - Aspergillus u'?,(-‘-! - J:/r (B) Ethanol - Aspergillus u’PﬁJ - d)’“t (A)
Ethanol - Saccharomyces ;ﬁ.‘tug e di"'! (D) Formic acid - Saccharomyces ,(.-‘L:/..C - AALS6 (C)

Streptomycin is categorized as ¢ q_c__,a:fa_c}fﬁ Oalle gyl -9
A drug from fungi b/ Pl (B) A drug from bacteria s/ Pt 25 (A)
A synthetic drug bl (D) A drug from minerals b/l =fs (C)

Which structure actively helps in taking the air out of lungs ? 4 ;.Mﬁﬁé_ﬁ/;gmowzﬁ&bduf -10

Diaphragm (L}Qli (D) Bronchiole d:‘u (C) Bronchus Jc;,c (B) Nasal cavity &[J;: (A)
§ bt A i a ot eta Lok 11
Which would NOT be present in the filterate entering the Bowman's capsule of nephron ?
Urea qu (D) Calcium ions /'1'(u (C)  Proteins &y (B) Water dl. (A)
quU/ ..... ujL(;Lw:.,deJ‘f g Z s LIl A2
Processes of neuron that carry nerv!ev itﬁpulses away from the cell body are called
Myelin sheath g oble (D) Synapses y#Jl (C) Dendrites *i4zf (B) Axons 2K (A
22 (0b;i)‘ -1‘2021 - 50000 SEQUENCE - 2 /)



e 45 58 1= f (480 demar ) @®loLoay) ¢k
a8=/F (PART)) d4as DK =Gl-2.| et oonf

Q. No. 2 Write short answers of any Five of the following 5x2=10 -ég/{r-l,lﬂ/‘?ﬁamf é& ;ui’d_’ib» Z/ﬁ)b’

What is epiglottis ? ? 5-_([‘;1)’(@! !
How voice is produced in voice box ? ¢ q.aﬂlégd_}bﬁﬁ‘f‘qﬁ) r
Differentiate between inhalation and exhalation z';i-’uw/uu’-‘*fwu’:‘(f o
Why transpiration does not occur at night ? ¢ Jnuﬁ;u[w:"'}'ulx‘:ﬁgﬁab d
How plants remove other metabolic wastes ? { ugi_f b;b'fu»l./b’z.__g/:w)‘{/g_:g 6
Define stimulus and give two examples ’é;uﬁjl'?wﬂg-';.gﬂf‘ﬁj’é’ A
Differentiate between Motor nerves and Mixed nerves éJ/"(J;/’bC/,U:/'/? <
Compare the function of insulin and glucagon g‘&ﬂr(fﬁufﬁtﬁldﬂ A
Q. No. 3 Write short answers of any Five of the following 5x2=10 2}’-:;/’&;!2/"?5.:40‘:’ g;ga._u.‘.d."i(w 3/;)1;’
What are Chondrocytes ? ¢ u_"l.:z&(u’zf Lok | 1
What are Biceps and Triceps muscles ? f Qangf)”u{Jf}J,lué’éy r
Define Parthenogenesis éqjvfﬁ'pﬁ’jg r
Describe a sexual 'reproduction by spore formation éug.z_: }’b’w’ri%udflr? <..lfl:wf v
Define traits 0@@ 2‘_:..4/"2}/‘)":} 0
Define alleles " @ i’i—:-«e.’/.’.JJg‘ i
What is meant by heterozygous genotype ? <& Q&\v ¢ 4.:'/9’:;;?} M?u'gij;,‘g:t Z
What is monohybrid cross ? ﬁﬂ@ S U iA | A |

Q.No.4 Write short answers of any Five of the foffowing 5 x 2 = 1025, Atz A cir§ic 2tibs 4y
Define food web A : S 54/."&%;5} |
Define mutualism (\\W éq/".d’r)&:' \¥
What are epiphytes ? @@ i U.?gu%té' ".'
Write symptoms of dengue - éfdgthf dE"i e
Define glycolysis E{u.,-_l/."J/félf o
How cheese is formed by fermentation ? $ &t ?Lb:4/;"¢-£f‘?f" 1
Define hallucinogens 2{._5//:"(,(/}‘5);: y2
Define bacteriostatic antibiotics 2‘:’4}&1’@6’1 t-ﬁ-.%-liwﬁ;.-!i(.l-\ A

((PART 1) pgd u..)

NOTE : Attempt any two questions from this part 9x2=18 q_dz,ﬁtfd’aﬂlnjcéfcufﬁdl .tk
Explain Osmoregulatory Function of kidney 4 édk.fd}:’)gdﬁf(‘_:j (A) - 5/."ULV
Explain the types of joints 1+1+1+42 éyUJgf?U“lJﬂz (B)

sl SoiewdP | (A) -6y
Explain the structure of Nerve cell or Neuron with the help of diagram 4
E o bafnlienn, 25 225 3 AP UA | B)
Define Binary Fission , Explain the Binary Fission in Bacteria and Amoeba 5
Define Vaccine. Explain its mode of action 4 Zguunfjg )ﬁi_)’;b’ﬁu‘lulé.g/“:f Jga=s | (A) -7/:"1)!:’
Define Fermentation. Explain types of Fermentation 5 afac,Jf'FUlJu’-p/ -:ifquu’-A? (B)
)
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fmf.’w.‘.”zuﬁuﬁ s L/;,/da ¥ LLI;:(J:ﬂmLJc..—ﬁ. é_f:v/;:_ uﬂ):i.f

1A

Which of the following is abiotic components ? ¥ o Z B e Lyl
Oxygen u’:fT (D) Carnivores Jm&zb’ (C) Herbivores JJ»Q/; (B) Producers J/tﬁ:{ (A)

When was complete map of human genome published ? ' ¢ lnél?y’:ﬁ'-"uﬂ’p? GLJI
2002 (D) 1960 (C) 1995 (B) 1990 (A)

Which of the following drug is obtained from plants ? 4 q.B(ng'c.u»{l”Jufa_gﬂul
Cephalosporin u;::':!‘:" (D) Insulin c)“-’:Jl {C) Morphine cj«‘?;t (B) Aspirin, ¢ ¢ (A)

When world No Tobacco Day is observed every year? Setllta /Ul (el §H] ) o3 39t
315t yuly Juz 31 (D) 315t May ' 31 (C) 31%August =131 (B) 315t March 3.t 31 (A)

Which organ is responsible for filtering blood ? g{ @ ) ¢ .;./b.ajﬁ’é_/},’;@}cﬁh«uf
Stomach 4 (D) Brain bl.: (C) c‘@ uf (E5) Intestine J‘u—'ﬂ (A)

The. " pairs of cranial nerve in human are ............. PP IND, Sos— 32l SRS gl
IQ 18 (D) 14 (C) 12 (B) 10 (A)

N
The largest part of forebrain is called .. Q{ Gg\y .::.,t.'ﬂr( ------------------------ ,ou:._.,/w,u}
: Pons /L (D) Hypotha @Q\j}:@\}/&ﬂﬂ (C) Thalamus u’ p (B) Cerebrum ,‘/6/ (A)
Cells of cartilage are called . w u‘Lﬂf)’cﬁfxb’

Organ (,-JCT (D) Q:J (C) Chondrocytes U:.,Vu.b( (B) Osteocytes u‘lrx:':-l (A)

Transfer of pollens from anther to stigma is called {..&Wﬂﬁ J /’{4%&. /&l '

Pollination u’-’f}f (D) Sperm (4 (C) Gammetes gf"[ (B) Fertilization =712/ (A)
e bt S P2 mRNA Lol el DNA

The specific sequence of DNA nucleotides is copied in the form of mRNA is know as
Transpiration cﬁfy'l/’ (D) Transiocation ;f"r 7 (C) Translation /= l/‘ (B) Transcription (_-ﬁr'/al} (A)
Specific combination of genes in an individual is calléd q..b‘ﬂ;rg,.'h&h_.gé S s AL
Genome (i..-*! (D) Allele J-{l (C) Genotype « t#¥ (B) Phenotype u{f&y.'! (A)
Base of food chain is PR B3t
Virus (7h (D) Decomposer 1);;‘155 (C) Consumer /.z']'r (B) Producer /gy (A)
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Q. No.2 Write short answers of any Five of the following 5x2 =10 Z:( _//”auz/i”’&..-,my ég :..u:djjb/: Zﬂ‘dlr

How sound is produced ? t q,&,zl&c{jl,f !

What is Expiration ? ; ¢ ?gﬁ,w“/r ¥

What is pneumonia and what is its most common cause ? T q.g.?(bc.v/(fu‘w S| r

What is Guttation ? £ q_gy’f g

Write the name of parts of Renal Corpuscle ei"t&uﬂéﬁaﬁﬁ; 6

Define Stimulus 2{4}7&1",3’ Y

What is Brain stem ? f G—k(ff/([—f L

What is acromegaly ? - 35 4.&"0‘4}/.(! A

Q. No. 3 Write shdrt answers of any Five of the following 5x2=10 gf:}/aguz/‘?égmr égc,uﬁ(b(w 3/.‘Ulr
Differentiate between compact bone and spongy bone : z;uwjgzugfnw.pgf ]

Define Endoskeleton 2;{4/{5’ uﬁ‘%id r

How does Hydra reproduce by Budding ? ) ?tfﬁ:&x{{-ﬁﬁj ALl v
Define Dormancy of Seed /Oféﬁ\ 2"":4;&‘( G| v

Define Transcription 0 - Ei’_:...g /Uu‘#/pl/‘ 8

Name four nitrogenous bases of DNA o Q&\O Z?'l:& ﬂd".!/"’b.l_l:od’ DNA|
Differentiate betwéen genotype and phenotype N @ z;fuw/’kx.{'e;ém_gw Z

State Law of Independent Assortment @ éugiFVMrlﬁjggdﬁl A
3. No.4  Write short answers of any Five of t}igcﬁgllowing 5x2=10 é;fagmﬂﬁaulr@c,gﬁd_’}(w 4/:2‘)'/
Write the role of producers in an eco W 2;!%)’ b’)/,t}:{ui'("/ ;f i1

Draw a simple food web @ & boecad bl | ¥

Define mutualism. Write its orséxample ae‘{)b.gJuwz-?._g/’&):z r”

Define renewable and non renewable resources éﬁ}’JJL}{JJG’ML&JJG‘ "
Define recombinant DNA ?_;"...41 /‘U’LJ&'Z’U' 5.»400:‘:5, 6

How isolation ofgene.of interest is done in genetic engineering? ¢ q_t@gﬁd‘cfcjﬁ’u}‘;uﬂjﬁl_ﬁ.g | ;
Define social stigma | 2;-'.:54}7‘{ Lﬂ")’f ra .
Differentiate between medicinal drug and addictive drug @’J}wuwwj,u»& A

C(PART i ),_,.mn)

IOTE : Attempt any Two questions from this part 9x2=18 q.d»/t/‘fomn:caéfa.;ﬁﬂm O
Write down the functioning of human kidney 4 . e‘{j"’éféuf&u: (A} - 5/,}dlr

o il
Describe the types of joints , 5 :{_-'ugru:sz (B)

4 Beobadf ok § £ U] (B) <640y

What is peripheral nervous system ? Explain motor pathway system

Define fertilization. Explain its mechanisms 5 é&?&:({uﬂ)ém;;l..yj’&ﬁ"jﬂf) (B)
Describe any four sources of medicinal drugs 4 a.{ugéusjgc;élz:ogm& (A) .."ﬂ;dlr

What is fermentation ? Describe its basic types 5 éugft}swye&m by 4.([‘1’!7 (B)
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A thick muscular structure beneath the lungs is called -;.a)b«/'ﬁ'f}fé&u:z:’; -1
Bronchus iz (D) Peritoneum ﬁﬁdﬁ (C) Diaphragm (l/"y-j(B) Pleura g% (A)
Which pilant produces resins? ‘ ?c._t‘/ lag> ,/J l::‘buf
Conifer ¥/ (D) Rubber %, (C) Keekar & B) Tomato AU (A)

How many pairs of spinal nerves are present in human? WL st iR Z‘fﬁ J;}ﬂ;uiuhil =
33055 (D) 31 F1(C) 18t (B) 12 wh (A)

bl FE pusrgrdgs 4

The hormone that increases the blood glucose concenteration.

Calcitonin u’;u’g‘_(D)' Parathormone sz (C) Insuh) Glucagon c)fbf.f (A)

The mature bone cells are called . §> -:.t'blffﬁ-’ &Ldl _5
Osteoblasts u” lly*’:l (C) Chondro@s (711 (B) Osteocytes f&—::‘;l (A)
@ Osteoclasts ¥l (D)

Queen honey bee is @ . ‘ q_anﬁ&f@‘; -6
Polyploid ¥ ODiploid X145 (C) Triploid ¥4/ (B) Haploid % U3 (A)

The position of gene on chr me is called | : | ugi;?u'».(.d{(fn/ B
Chromatid fo‘l..u((D) Centromere ﬂ;}-“ {C) Locus g/;‘ (B) Karyotype oL / — (A)

True breeding means | il A EL s .8
Homozygousu'gu:'n (D) Hybrid £4} (C) Heterozygous uﬁ Uszz (B) Homologous Lfg’!‘}f (A)

The biotic component of an ecosystem Is ' -ﬁ;.:z.f.{[.fr"/ ,{ v -9
Water 0 (D) Soil ¢* (C) Producer i (B) Light 5 (A)

It is an example of ectoparasite ‘ - ﬂq..dl.‘ﬂ,( i F,c}( o -10
| Bacteria | 2% (D) Virus U%ls (C) Mosquito /% (B) Ascaris /4 (A)

The enzyme used to dissolve blood clots is -q_t'ndbv’lé’.éd./?fu:ﬂﬁu&’( 120y 11
Urokinase /~§us (D) Endonuclease /iu"'uci (C) Amylase 2! (B) Thymosin ¢»18 (A)

Streptomycin is obtained from : {-dblfd" AT k2 12

Soil * (D) Bacteria | 2% (C) Plants < (B) Fungi 56 (a)
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48 =4F (PART I) s} 4saman 0 (116«10—(, |-Do (GROUP FIRST) u,;-.,,,/
Q.No.2 Write short answers of any Five of the following 5 x 2 W&UV &k c'-uﬁiifw 2/:"2)1,»
What are lenticels? Write their functions. " 4‘7 (¥l ¢ uggf;k&l’ I
Write the function of vocal cords. -zi‘*b’b’)bb’gﬁ; r
Write any two symptoms of Asthma. -e{uuwu Gf‘f.a: ¥
What is guttation? et u’-/ v
Write the name of two parts of renal corpuscle. -é&t&uﬂ:ﬁ J"A’J‘; o
Define stimulus. LEVASSET Y
What is nerve impulse ? ' ?4_9'% Iy
Write the function of rods cell and cones cell in eye. -3?‘5’ s’)?uL,usu LLFT| A
Q. No.3 Write short answers of any five of the following 5x2=10 Z A=z L iy §leflitw 340
What are tendons? Write its one function. dz-:“f.._ﬁ K © i |
Differentiate between origin and insertion E:fa J)tﬁcf’/b;lufwi r
Define calluses. (\)(é; -zg’._y /U/ka r
Write two disadvantages of vegetative propagation. @ -e:{-,tw},L (f-f-c';{;:'g{', 4
Define Mendel's Law of indepenent assortment. " &Qg_eﬂfwﬂ S HSTIL k) o
What is difference between transcription and translation?, @b\) o e O M !.}.ahﬁﬂt} 1
What are nucleosomes? N "u!?;"a&' -
Define continuous variation , give one examp/l\e.@w _’q‘.xdt‘.gul_é..gﬂf.;l,? L}'V A
Q.No.4 Write short answers of any fiv \f)ollowing 5x2= 10-2:.’1'{;’@;&/‘"&_-,0!,—&;‘-.&‘}_3@; a7
Define trophic level. @ -gf.gﬂ!d.é_! 21
What is the difference between ;i chain and food web? ‘»'4.&/'&&};,;;:5)::' cﬁ}} r
Define commensalism. : 5 & AR | r
Write two effects of deforestation. -86 ) [ )24 B
| Define biotechnology. L2 5ggy| o
What is the function of restriction endonucleases enzyme? %.u"sg b’fl.'f'l J ﬁ‘.ﬁ:ﬁz’u’{%; ]
Differentiate medicinal and addictive drugs. ' . EZEO A S s i Iy #l e
Define vaccination. . -.éuy /U Lf-”", A
C(PART It ) g 4..9
NOTE : Attempt any two questions from this part 9x2=18 q..du/’tfd’o Uln:odfa.uf/m tad
Explain the two methods of dialysis 4 | 2 erlbafUA ML B[ (A) - 5

What is meant by feed back mechanism? Explain its types 5 <’f£yu,g,(r$tgfm s‘.;_,lfg’c,r-);é._g | (B)
What is joint ? Explain the classification of joints 4 &u&(dk&k&ﬂ ? q...:'/t[‘:..ﬁz (A) 64y

Explain structure of seed. Draw its labelled diagram 5 SNt el JB| @)
Describe any four acheivements of Genetic Engineering 4 & VW e BIE L AEx| (A 1A
Describe the principal usage of important medicinal drugs 5 -’éubdb?fdftb’_-,gul&@ (B)
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Mescaline is obtained from a plant o - e Pl e 4.:{..?/@&’/3
Morning Glory dzf.ﬁzt (D) Cannabis S (C) Datura Lz} (B) Cactus u‘"g( (A)
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What type of blood vessels surrounds the alveoli 7 : Stz PSS AL Sl
Capillaries z/&-f (D) Veins %3 (C) Arterioles K27 (B) Artery 4T (A)

Normal urine contains amount of urea. -q_me»J Lzzu-'fs.,t‘»;d’xt -2
| 147 gl (D) 959/l (C) 1.87 gl (B) 9.3 g/l (A)

Myelin sheath is formed by i‘q..Jn&r_--;f;??u‘t w3
Dendrites U3 (D) Schwann cells Xl (C) Axons #£I(B) Cell bodies 23U (A)

| Length of spinal cord is about ) -q_aﬂél/[; ;‘Ublﬂf: L -4
30cm (D) 45‘@@) 40cm  (B) 20cm (A)

In mammals the number of bones in lower jaw Q\O'éa’”'ﬂ‘m@‘;‘- ;,zq{)u:)‘-" o

Four bones i/l (D) Thfee bones el (C) Qﬁmes 42 (B) One bone c_):.’-...g (A)

Male reproductive part of flower is called | | | -q._tlh(/d,oj?) KA -6
Corolla UJ/(D§ 6 Jb (C) Stamen u’éf (B} Carpel J:Jb’ (A)

i bl Plofien L8 i ML S 7

Which relationship is foun sls of blood groups I* and 1°

imcomplete dominance u’*‘;ﬂ);t (B) Co-donimance %34/ (A)
Complete dominance ..,def (D) Recessive o (C)

A definite combination of genes in an individual is called .é_t'li.f PE e Sl T B
Breeds Ji (D) Hybrid 37} (C)Genotype #t#f (B) Phenotype .(’lf}.!. “(A)

The basic source of energy for ail ecosystem is ..9..;31)6;95’&)12.’& }"’ ;f I rC? -
Sun Gu (D) Water ( (C) Animals ./ (B) Plants <y (A)

Which one is the abiotic component of the ecosystem. ?  Se_bufhiZ8¥ Lc.lbf(v et s 10
Air In (D) Carnivores Jzu(}ﬁ (C) Herbivores }mdﬂ (B) Producers Jsgisz (A)

Cpmpléte map of human genome was published | Jn(‘jlﬁ—ﬁ‘); (74 dugsde -1
| ,2010(D) #2002 (C) 1902 (B) 2000 (A)

b
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Q. No.2 Write short answers of any Five of the following  5x2=10 (&g Rz Pl iy bla LS5t 2 A
Why is the larynx called voice box? e tl W u[ar'JVJQ f
What is diaphragm? Write its fuction .e:dd‘rm ) 4_1;{[)5!5 r
What is the effect of smoking on circulatory system? -ZUJ‘IB’JK{(V d}-é)} r
What is lguttation? ?{..\;"w’! r
Give difference between afferent and efferent arteriole, -&“—p UAL g A T Bl g 2iTese 1 | 0
Define refiex action and reflex arc. AT J!]L'}“{'Lfg“} X
What is night blindness? e Y st | <
What is acromegaly? ‘ Tq.l_._-"u‘fu( A

Q.No.3 Write short answers of any five of the following 5x2=10 (ég,éuz/‘?éc,mr é&c.ufJ.’j(w) 3 /.;Jfr
Differentiate between compact bone and spongy bone. -e{'})utuxcfmﬂuz»éf |
Write two examples of ball and socket joints. - -é‘r’a ui’t‘mJJ"l'z Sy v
What are corms? e d | T
Write two disadvantages of vegetative propagation of plants. @@;L“f» 5@‘-’%{:‘5&: Ju»{ r
What are nucleosomes? A @ - \‘le!)'rﬁ“ié L
What is transcription? < Q{%\v ?|¢.lfu’3):’f) 1
Define Mendel's law of independent assortment M@v Sy b S BIT il | <
Write four examples of continuous variations. /\@\}\2 ‘ -afddl.‘/ JLVJG«L!JJ/ A

Q. No. 4 Write short answers of any five of\;t}%%}d{lowing 5x2=10 (égfw;mﬁéaurréga.wiszw) 4/.‘Ufr
Define ecology. N . _g{..y}J&},f A
What is global warming? @@ vq..g’q%m}ﬁ r
Define commensalism. Give o\r:e) example. : -ﬁdmﬁmg&gfi{r'?‘;ff ¥
What is denitrification. %g@ﬁdftdf r
Write the functions of restriction endonucleases and ligase enzyme -éﬁddlél é(f 121 ,C[]J J;l}ﬁ“;:':i'glf 7| e
Define fermentation. Write the names of its two types. = E:(}tﬁrlﬁb:(fw »I?,:_é‘ﬂf u’!"? b |
Differentiate between antigens and antibodies. -2;5 (‘: KJJM zi&ff:b;l,‘?‘?'l Z
What is difference between antiseptics and disinfectants ? J S Jd/ &(Lﬂcf%bs‘ﬁ@" A

(" (PARTI )ppidean )

NOTE : Attempt any two questions from this part 9x2=18 z;Sd’:.«mm.:.Jfa.Wm tukd
Explain osmoregulatory function of kidney . 4 Bk S | ) -5 0
Define feed back mechanism and discuss its types . 5 -z{ug(ufJulJ,Léqi&ﬁg.gy (B)

Define cartilage and explain its types. 4 zf.-’:»u,Jrurﬁj,:_:{_f_gﬂI Fy (A) -84
Explain germination of seed. 5 ng:Jéﬁl.’:@ (B)
Write lfnportant objectives of genetic engineering. 4 _ -éukylﬁ(‘lﬁuf 74 g | (A) J/.‘Ulr
Explain major categories of addictive drugs . 5 -Z:.;»L}JJ}UUZJ&L»M@' (B)
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If both lungs are infected the disease Is called ?&MUJE?L‘!HJHL;UJW;”/G
Arthrites “147 (D) Gout .5¢ (C) Double Pneumonia prUts (B) Typhold ¥t (A)
U Shape Renal Tubules is called o P Ut K 2
Cortex u‘g ¥ (D) Loop of Henle &JT...J (C) Pyramids Jiis (%‘@mn Yl (A)
There are major region of Human Brain Lo slbulybl 3
5 g@\?(q 3L (B) 2 »(A)
The middle layer of Eye Is called ! 4_011{;‘3;@;(11 -4
Choroid ¥/ (D) Cornea %y Retina ks (B) Sclera £ (A)
Tendons and Ilgamenfs are bands of @ u(},gfu't’ﬂ s 5
tissue ;J!Ju (B) Muscular tissue ;“J)F‘ (A)
e tissue :‘Jﬂ (D) Epidermal tissue ;‘—UA@ (C)
Bryophyllum (Pather Chut) ample of .;.JMJc.;ﬂofﬁ’Ffu -6
Leaves % (D) Suckers i~ (C) Bulb x¥(B) Stem Tubers <% (A)
Amoeba reproduces a sexually by q.&né?u’.’ﬁﬁﬁgf =F
Binary fission ¢*15%} (B) Budding % (A)
Multiple fission u‘Uu‘L (D) Fragmentation oSy i (C)
VB DNA L il -8
James Watson and Francis Crick proposed the structure of DNA
1953 (D) 1854 (C) 1954 (B) 1955 (A)
Mendel selected a plant | Yoo yli Jir -9
Mustard > (D) Cabbage (% (C) Rose Ju (B) Pea > (A)
Qb Stk 1l sk ik 1921 10
In 1927 an English Ecologist developed the concept of Ecological pyramids
Lamark LU (D) Darwin @/ (C) Mendel dfer (B) Charles Elton u*u’ik (A)
Animal Breeding is a form of _ z,'_f L1 J (Breeding) uy J’; Ju,uib =19
Blotechnology JJ?«Q{HC) Cell Biology $/k kK (B) Pharmacology (s¥1/6 (A)
o Morphology ($76. (D)
Mescaline belongs to 7 | ‘;,fw!(,_, 12

Hallucinogens ;2% (D) Sulpha drugs /36l (C) Vaccine ;rﬁ (B) Antibiotics U4\ (A)
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Q.No.2 Write short answers any Five of the following 5x2=10 (4fffo§l£/‘9£a By Sl b0 22

How does the gaseous exchange occur in leaves and young stems 72 ?t‘ﬂé_.{:b?rur[(; ui&/éﬁ/;lug i
What Is meant by diaphragm ? ? el S| r
Differentiate between Stomata and Lenticels %WM* @)ﬂ'f:!” r
Define Hydrophytes and give an example 4“#0’&/%.&;5#&4 i
What is meant by concentrated urine ? Give its reason :4;/,’,,.&;: t q_;l/yr:_.,.-t‘a;l-)l’ o
What Is meant by Saltatory Impulses ? i {—-ﬂ/k("— A
Differentiate between Sensory Neurons and Inter-neurons 4 EhoALIE sl x| <
What is Thalamus ? Write its function U e A

Q.No.3 Write short answers any five of the following 5x2=10  (&/k Wlﬂr AP NID) 3 )i
Differentiate Mﬁoﬁn mévomont and locomotion | A A o/ @WMW,%UO
Differentiate between Osteocytes and Chondrocytes (\m\ 4;:WMu‘w}mJ'bmi r
What is reproduction ? Write names of its two basic types @v #{'ﬁﬁ(ﬂld:&imfd’ ) q.&fofg%u r,
Define Budding and give one example Kol\\}b 4&}!‘/»44:4%.{) r
Differentiate between Self Pollination and Cro Ebv fation @@yo,u‘f-‘%w)iw’%’;ak 2
What are Homozygoua genotype and Ije\n@&p@a genotype ? L q_J‘/k(c_-{' ERE s bR gfaﬂ A
Differentiate between monohybgq(c?\;;s and dihybrid cross g@;.a,um‘dmm,:m_,:w ¢
Write two sources of vana}qﬁé& @5}’803»&.-.9!}" A

Q.No.4 Write short answers @ny five of the following 5x2=10 (4’(/’:&&/’&&0’:’5;‘:&‘),16») 42 )
Define food web. z{._y/UwJ} 1
Differentiate between herbivores and carnivores {4; ﬂ)}gﬁ)m&;b’aumq Al r
What is atmospheric nitrogen fixation ? T q_ﬁngu’i’aj,f’téw r
Write down two advantages of using fermenters eﬁ’n}»&L)UW; K|
Write down few uses of formic acid éﬁu&w&ﬂ.ﬁs °
Define narcotics. Give examples @d&m@ﬂfuﬁ: 1
What is the difference betwéen antiseptics and antibiotics ? ? 90){&;}".'{“3&1»! J‘ﬂ?l ‘
What is meant by pharmacology ? . t el S| A

CorT T o)
NOTE : Attempt any two questions from this part 9x2=18 f.dn/‘h/gfelﬂn::_éfc_wm Y |
| 4 4:-»Bsnf CAL Uk e sl pHit B Pi L ung | (A) - 50w
Explain the removal of extra water and other metabolic wastes from plants
s b SundSomri Lo s ¢ ondudfsde| @)
What is the location of thyroid gland ? Write about its hormones and the defects produced by
their under and over production , .
What s artheritis ? Describe ts three types 4 Lol LI s AR ) 8y
Describe the development and structure of seed 5 46&:.‘):-‘7 -:éwﬂjwté" €l (B) | |
o V ng:JrU!»Jw ¢ ;.:wfc.m/’w}ril 1| (A 740

What is meant by Ecological Pyramids ? Explain its two types 4
Describe the scope and importance of Biotechnology 5 éﬁfyyqﬁbﬁvfm)b?ﬂ (B)

ARAE SR BA ATE i i e e ik A i
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The number of dangerous chemicals in tobacco smoke Is eI K BLYNLSZ A
4000 (D) 3000 (C) 2000 (B) 1000 (A)

The organ for fliteration of blood Is q..:*’ﬂhi.//';fui -2
| | Brain ¢/« (D) Lungs < /5 (C) Kidney & Heart J:(A)

q.bﬂftpt‘bfl-d)\%@vnuﬁ/ui’ubx s

Part of neuron which takes Impulses towards cell body are o

Myelin sheath 3 ,lila (D) Ganglia W(C) Monv@&) Dendrites uli 3,3 (A)

All of these are hormones except L urnl, -4
Estrogen (/421 (D) Glycogen Jﬂ!&lucagon /¥ (B) Insulin g (A)

Number of bones In human skull is @ q—:’ﬁtfutéaﬁd‘{fdui -5
o 19 (D) 20(C) 21 (B) 22(A)

Method of asexual reproduc astls ;..‘g)ﬁ;’?fjutw—_s -6
Bu 4 (C) Binary fission u”d}*’& (B) Multiple fission u’u&* (A)
Spore formation ¢/ ~/6.%” (D)

Asexual reproduction by suckers takes place in - q..a.-fikﬁ;&,_v‘?u‘l'j ol
Potato JT (D) Ginger o (G) Lily J (B) Mint s (A)

The genotype of blood group O is ’ etz /o 8
i@ rie B @ M @A

Union of sperm and ovum is called q.t‘ﬂf(yﬂvl’(ul.ul(/ -9
| Allele 21 (D) Fertilization R} (C) Genes »(B) Gamete ul (A)

All ecosystems of the world together form LSNP E Ly A0
Specles 2% (D) Community (i (C) Population ¢} (B) Blosphere A%} (A)

Lactic aclid fermentation takes place by q.&;x.gzéu’-‘i?}dl-ﬁp <11
' Bacteria L,}f. (D) Virus 7 (C) Yeast wu-z(B) Alqae dl (A)

10U AL sk P2 K 12

Chemicais which kilis microorganisms on non-living objects are called
Disinfectants ¢ i3 (D) Antibiotics ¢, (C) Antigens 2! (B) Antiseptics ué’g?-f (A)
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a8=4) (PART I) Jy} dnmin 2017-2019 U 2015 -2017 : X"
Q.No.2 Writeshort answers any Fiveof thefollowing  5x2=10 (& fetiz AL ety et lits) 240

How specific sound for talking is produced ? t q.[ﬁ{ﬂﬁgfdkdidzh [
How expiration occurs ? * e dneilhlor |
Give symptoms and cure of pneumonia #ﬂbu-nl.-.mgf w‘ r
What is meant by metabolic wastes ? f 4.:'/9’4-U»L1(+£j)1& r
Define guttation and give one example @Jk{wl@ﬁf g’-l 0
What is meant by night blindness ? f eapfa gl il
What is ganglion ? A ! ﬁ-_gyy‘! Z
Where pons are present in brain and what is their function ? ;3 q.y?f(u@&@mqﬁbtﬁk A

OAQ{AQ\V 4( g ’JJML'X‘ / lJJ‘g-A{JJI

Differentiate between origin and insertion

Q.No.3 Write short answers any five of the following ~ §x2=10 <g?/§.@)¥£.-,mr SheLLitu) 3 A0

What is meant by antagonism ? (A N ¢ q..:l/garif Cf| r
What is meant by Fragmentation ? Give an example N &\/ éf:dt‘/ L ‘,-.,i/gfc..;r‘-“'& sl r
Write down procedure of budding In corals /ﬁ\@ Ly W Eae i | v
What is meant by parthenogenesis ? ({\ & { L q.;yy’c,ﬂ:‘lg e
Differentiate between monohybrid crqs@zmybrid Cross 4‘ 5 lsJMW/@;J{,J'LﬁJ’/I,:JHf 1
State Mendel's law of sagregatim) éfakw’—'(fdf Uil ¢
What is meant by co-domlnanm; T e UE | A
Q.No.4 Write shortanswers any five of thefollowing ~ 5x2=10 (& feliz L o rbic Ltitw) 4740y
What is the difference between Producers and Consumers ? &/k&#)ftfc’l}/ﬁ:{ f
What is meant by pyramid of Numbers ? t 4.,-/{.—_.;2.Jw;g r
Define Atmospheric Nitrogen Fixation $:¢}&/'-J u’-;/":Juﬁ r
Write two uses of Formic Acid : quWl»LJ/J.Cﬁ r
What do you mean by continuous Fermentation ? t u}i.k{vfgxukéwjﬁ)y s
Differentiate between sedatives and disinfectants @yJM ﬂu}ali;‘:irk.-.gubﬁuﬁ 1
Write down four precautions before the use of medicine ﬁ@{/ﬁliﬁy&#ai./dbﬂfakm -
What is cephalosporin ? Writs its two uses éu’ UWr,,;_Jf;eugg e oA
CPART I ) i mm )
NOTE : Attempt any two questions from this part 9x2=18 edntSSermeMe o) L)
Explain osmoregulatory function of kidney 4 &#D;de}é;/ﬂifbaf {A) - SA‘Ufr
5 2{9&:({(\5&:&}1 f e ri L (B)
What is mearit by feed back Mechanisms ? Explain its two types
Explain Osteoporosis 4 Jyu,gfﬂgéﬂ (A) -8/)r
Write note on the following : 5 : g_»i{d_’hu? (B)
(1) Fragmentation  (2) Parthenogenesis L 2) ‘/-‘{/ (1)
Write a note on nitrogen fixation in nitrogen cycle 4 4;/’.:){@’-”4‘;:}'1;}5‘1"9‘;&}1 (A) 14
Discuss in detail basic steps in genetic engineering 5 ééd'-‘id"/d;k'é.f ]'."’I..E’ (B)
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(ﬂzﬁwvfzalﬁgﬂ:«/di—fg/:‘a(LZ_/{fu:ﬂwLx‘c..g- & fe oA
1A
A muscular passage common to both food and airis _4.rM+J;?A_-meJJiz:/u)P.Q 1
Pharynx 2 (D) Larynx U () Awveoli Juzdl (B) Trachea L (A)
Number of nephrones in each kidney is -4.8;1;@;5’@, ).’u.f‘..;);; w2
12 Lac 47 12 (D)7Lac #U7(C) 10Lac SU10 (B) 5lac U5 (A)
Central layer of eye is R (.},l(wgf){f -
Sclera 1 (D) Retina s (C) Choroid 51 (B) Cornea i/t (A)
Deficiency of which vitamin causes the poor night vision. Q:J-"JU:.?’J/:JJ;,JJJ k;;f’ ~4
Vitamin A <l ts (D) Vitamin B J¢/% (C) Vitamin C (f /'ts (B) Vitamin D J3 b (A)
What do some bones produce ? u}&lzt_fu,t,é/: -5
Blood cells X% (D) Oxygen J-’K T (C) Horm /5’:’4 (B) Mucus J(A)
Essential process for the continuation of species is ‘ 00 -q.d"du/{.é‘}‘ué'/:& -6
Reproduction ¢ szs (D) Cloning £¥ (c) R%@Sﬁ%ﬂ o ¢t (B) locomotion /¥ (A)
The unit of androecium is A7 q__éb’lb((-i/}:d Wy
Gamete .b_/ﬁr (D) Pole@ q/../g (C) Anthers/l"'i (B) Stamens /-» (A)
It is hereditary (genetic) material % q_uLC; e -8
{RNA (D) RNA (C) mRNA (B) DNA (A)
Model of DNA structure was presented by gu‘:"rdﬂb’&lrJDNA -9
Watson and Crick Pl (D) Crick & (C) Watson ¢ (B) Mendel J (A)
Change of nitrogen gas into nitrates is called -4.?&&/ J_iu‘."gf':/"'tf -Jv/"t -10
Ammunification w’-"égrl (B) Nitrogen fixation ¢/~ S Ft (A)
Assimilation ..-f?dff (D) Nitrification u’-‘%}’t (C)
gL et o
Study of composition and medical application of drugs is called
Mycology /€. (B) Pahrmacology $J¥L/6 (A)
Physiology §#L7 (D) Biotechnology EILEL (C)
Human insulin gene was transfered into * -“b(y’yu.’.‘-’b’c)‘.’ﬂi U1 =12

Yeast o2 (D) Bacteria (& (C) Virus U7t (B) Fungi OF (A)

. D6 &£
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Q.No.2 Write short answers any Five of the following 5§x2=10

What is meant by passive smoking? ‘-‘.;.-..:l/y’:_..f“::’::% f
Write symptoms of Bronchitis . -zo .;Lw-J if‘b‘:/. r

Define osmoregulation . é.gfffu":{/f b

Define renal cortex. 4:-&’/"&}'5 €S| 7

IWhat is meant by selective reabsorption? ¢ c-:f/b(c-uJ IRy & :

What are the types of coordination in living organisms,write their names. 490(!:u‘*u:" u/ Ju""uffxﬂuﬂ'*b

kST vt

Define refiex arc.

<

40['5’(3)&:/(‘}’[/

Write two main functions of spinal cord.

A

Q.No.3 Write short answers any five of the following 5x2=10

te JHVAS Eas

Differentiate between flexor muscle and extensor muscie,

T » (
What Is meant by osteoarthritis ? 99-)‘/‘-[-'—'—'0" (ATl
What are suckers? Give an example. -é@d*djg}; r

] . _— St Jf uﬁfb ,uz,}u/u L;JJ;'

How does the reproduction occur in honey bee?

What is hypogeal germination? Give an example. @&édl" ¢ L S S

[

For which purpose checker board is used? A%\ o\/ YLWUUW’{‘-LW J(;(w.'ﬁ

1

What is meant by template? - ;®>/ Sl /l[a.-z«?,

i

Define Gene. A/ w -cf(..e,//"lfu.‘.’

A

(JJJC&) 1&;..{:/’ ‘ &jk..
2016-2018 , 2015 - 2017 : S
(é/‘:-,wﬁéamr bl LS itn) 2y

(&, feli2 oL 2V Bl SL2) 34y

Q.No.4 Write short answers any five of the foltowWo> 5x2=10 ( 5/){..49.?/‘.'?5.,11!:'5!.4.& Jitn) 44

What are biogeochemical cycies? Name some Qf\tp\grﬁf 4%‘?‘&[ e Lot Lty |
Write down the difference between ecosyﬁ\md biosphere. LGP SN 1
Write down some uses of glycerol, ("~ e s
What do you know about lactic acid fermentation? AU T Sl S D
What is the role of Pasteur in the field of fermentation? ‘-’q—xbf Vg gufuwéu’“? ot
Define vaccines. Who introduced this process? ?L'dezl-’"ctf( J‘; 2}!-&’/.; J)‘g’ k
What is the difference between pharmacy and pharmacology ‘-‘9&/’%}1 G5 | ¢
Differentiate between broad spectrum and narrow spectrum antibiotics Yq_J}k_ftﬁu"i‘ L /E.;’ 269! (ﬁ;ﬁ.c A

(PART Il ) py3 dran ‘
NOTE : Attempt any two questions from this part 9x2=18 c‘-du/"tfd’a U‘r‘»c_(jfc:.- St S
Write a note on functioning of kidney 5 4;)1,«. J” Ve s (A) -5
Write a note on thyroid glands and adrenal glands. 4 a!gc.«i{iﬁzfuﬁvé'ﬂf 006 ®)
Write a note on cartilage. ' 5 gd < iy é"'/'b’ (A) -6
Write a note on binary fission 4 _’4'6:.,}{‘_-)’56}-'; (B)

5 'q{.vuu JR2 #R1¢ e WUriK ARLLLFL = 5 (A) -7

What is 3R rule for the conservation of nature? Explain R1 and R2

Write the advantages of using fermenter. 4 2‘,!?»’!}[.&./0&"'1 77 (B)
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PAPER CODE - 7462

12018 U5 W) 1w oL 3
12 = AF, er15=% POTIPIPIOPA 2016-2018 , 2015 - 2017 : XS
IS Ao LN e P s Dy Q62 L s D 4 CBA N2 Ly 2 &S
G zedd fam§i Sy Skl Syt L& LS
14"
The world * No Tobcco Day ' is celebrated every year on , q.t'(g,t_l?u:u)k.ilﬁékfifﬁ)l/ﬁ -1
31 October <31 31 (D) 10th October 47110 (C) 31 May (’31(B) 10th May 10 (A)
The example of halophytes plants is -q.JO'Ju::gquG:.‘f 2
cactus ¥ (D) Rose i (C) Sea grass JWur (B) Water lily J# (A)
Yq.jb’.,)g/ﬁr/;z/t/;f:ﬁ‘b:lt/g):‘:f.:«b"’d/‘! -
Which lobe of cerebrum receives and analyzes visual information
Temporal JisZ (D) Occipitald’}.f T (C) Parietal Sz (B) Frontal J/ (A)
He wrote three books on diseases and surgery of eye. -u..‘{ﬁcruf{upk:.mdz/‘ff T -4
Bu Ali Sena tx% (B) @g al-Haytham /¥l (A)
Abdul Malik Asmai (il U@%)/ Alilbn Isa =i (C)
The longest bone in human body is 0{@30 -4.8:16%62:.“‘)!(2'&)! -5
Hyoid bone f«ftﬂ(D) Stapes J?“ gh bone dé-d’ub (B)Sternum (}‘/ (A)
It is the process used to propagate sugar cane ation. . et sessL e
Fragmentation ;&udisas i ( ng & (C) Layering £/ (B) Grafting &1/ (A)
In mint vegetative propagation oc y. 4’/},4.8)1 VL CUPRUIN I TEUTTD <R T ey |
Corms i uckers i~ (C) Leaves < U% (B) Stem tubers Js£ (" (A)
The book " Natural selection” writen by Darwin was published in. -Jnétﬁ"‘fg’d/,{ * .,,C(Juuﬁ -8
1960 (D) 1959 (C) 1860 (B) 1859 (A)
How many years Darwin spent his voyage on HMS ? ?l[/"{ HMS Jt(.df.dlzZL gl -9
7 years Jtr 7 (D) 6 years JV 6 (C) 5years Jv 5 (B) 4 years Jv 4 (A)
q.::ll/c)f (ﬂl(ﬂjy/)ﬁuu;:{ukg) <10
Which type of symbiosis relationship is there in termite and protozoan?
Parasitism (Jle?l-I5 (D) Commensalism r)j’gff (C) Predation ﬁé{ (B) Mutualism #x'(A)
When was the work on Genetic Engineering started ? Unls s ..f(b’b’.fjjl L 11
1964 (D) 1954 (C) 1944 (B) 1934 (A)
To which group aspirin belongs ? r c,.r,/c.ufa“"'s‘q,(-l =12

Drug from plants lm;fJ’ bes2y (B) Drug from animals l»uf.,)’ bc.,uu]lg (A)
Synthetic drug lmi.a‘;’t’..ﬁ (D) Drug from bacteria b:u/J’ b\ )Q (C)

P4 K
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wras 1= as=A) LWL
(PART I) Jyl 4sma

() 1w o) " B
2016 - 2018 , 2015 - 2017 : =

Q. No.2 Write short answers any Five of the following 5x2=10 (@f.—,m,“’law &g e LSibs) 2/ )
Diffrentiate between stomata and air spaces. -4'/ UOAL /¥R e | |
Give symptoms of Amphysema. -@flf:—w‘ V(L{J(‘ r
’ =3 &0 ‘J,J
Differentiate between guttation and transpiration. -éluw/\;w*/w}m J* |
Define dialysis,name its two methods. -éfoftéuﬂ)»ﬁd'- ’q{-é’/U)’:’L’f 4

-4‘{’/’*}546/.‘&&:/ °
-@-/.»L’/Uu’fd}ﬂf 1

-4{// Julwbinsie | <

te Fome P Uit datarriiy| ®

What are the causes of kidney stones?

Define co-ordination.

Write fuctions of Medulla Oblongata.

What is hypermetropia? How can it be rectified?

5x2=10 (i foi Lz tiv Gha L) 34

Q.No.3 Write short answers any five of the following

& LSS S

-@JVM'?{J}’ Ju"‘c:,‘gwcf‘-; 11
ﬂ(é\?q-é)\ftﬁsf-“ Yl U T

@\(/ = -4:-19‘)’(» e i | ”

o\ O -gouoje Sl Silg | °
Aﬁ?ﬂ% ™ -2;{4/1,( M,{;Jm,u_.ﬁ';)r 1
4 -thf-’t‘/cf.'.u‘i}u'»\‘ungéai &

What is osteoporosis? Give one reason for this disease.

Define exoskeleton and endoskeleton.Give examples also.

Differentiate between binary fission and fragmentation.

What is seed coat ? Describe its function .

Defferentiate between epicotyl and hypocotyl.

Define monohybrid and dihybrid cross.

Define trait. Give two examples of human trait. A~
(9 T . -
Define Mendel law of independent assortment. @ N z{.)_f/tfww.:;i_:;dﬂ.ﬂ. vLJer
o
Q.No.4 Write short answers any five lowing 5x2=10 (& (fatlﬁ/‘.‘.‘ﬁ:—uvaa‘;d:’@u) a /)y

NI eyl
Se st e SIS | T

Define popupaltion.

'What is meant by “Nitrogen assimilation” ?

Define fermentation. ' -%j Al J“”/ r

Write objectives of genetic engineering. -gart:»LJ }..Ji..ﬁ? v

What is urokinase ? What is its function? c;.mfrqu_gx"w &

Write names of two drugs prepared from minerals. -Zﬁtﬁakuludb'&m}‘kv:.j/‘ A
Z

S Lnet i VL ik

What is the function of tetracyclines? For which disease it is used ? ?ugaxdb-’l{.ﬁdzt-f_.ul g ¥V b’jt‘{ gl A
(PART Il ) p.93 4eman

Whata are effects of sedatives?

NOTE : Attempt any two questions from this part 9x2=18 .;.du/'t/gf.:.mruc_éfcdyw td

How plants remove extra carbon dioxide , oxygen and water out side 5 ?u}il{:’ﬁyé_(f Jgulcﬁf Ewslicﬁzfi"li‘...v( (A) -5

Describe structure of neuron 4 @{yk;)v;{ubﬁ (B)

What is meant by cartilage ? Explain its types 5 ’q{.vu:gf(ul(fl?q. ;l/t!c_.é) & (A) -6
4 & oySnie 6L gy @)

Describe the advantages and disadvantages of vegetative propagation in plants
Describe the different steps of nitrogen cycle in detail. 5 -@yaﬁmféfv&j«’t ) 7
4 S ¢ IROBNEILE g T i IS IEE Y (B)

Define bio-technology and also describe the area in which bio-technology is applicable .
04k 10-Rrs
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